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1. et froeft W) sim areh gt wemd

&, e aoft s/ fram € 2
(a) 625
(b) 400
(c) 196
(d) 120

2. i2’C(n,r) foraeh R ® ?
r=0

(a 2"
(b) 3"
(c) 2%
1) o

3. 3f% 5 ‘MATHEMATICS’ & &Rl &
faftra w9t w sy # gEeg
frm s, o o= A W fen a=
(v a1 faeds) €, it CHARY B
T WUH W A Tet a7
(a) 302400
(b) 403600
(c) 907200

(d) 1814400

4. frafafaa Faet w e 6ifse .

1.3 f, ZxZ = % SwwH=A R
S f= {0, x-y); x,y € Z} T
gfanfia ®, a‘tfzﬁzmqaﬁ
H ©

2.9f% f, Nx N &1 T&h Sveg=aa R
S f={(p, x+y); x,y € N} TR
i 2, A LNINR &
o ©
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IIGH H W -6 /-0 FET e
R/ 7

(a) &ae 1

(b) & 2

(c) 13K 23t

(d TA 1,782

a1 G2 a3
ay) Gy an
a3y a4z dasz

iy | afe Ay3=YZ, Ay3=12X, A33=Xy
R ay3, ay3, a3y 1 STERMOG R
-y, €~», ¢-x) & T AH W
R ?

(@ E-yz-x0-x)

®) G-»0-2)x-2)

) G-ez-x)(y-2)x+y+z)

(d tyztz)x+ty+z)

R @R

120 0
. afg A={0 cos6 sin&}%,?ﬁ

0 sin@ -cos@

Ffeffem A d sm-aadt € 7
1. A+ adjid T& 4 AR ©
2. A7\ + adjA TF LH ATE ©
3. A- A7 UF A R B
¥ Ry T T T WEW W ' IW
qfg

(a) Fad 132

(b) A 23R 3

(c) Faa 133

(d 1,23R3
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1. How many four-digit natural numbers Which of the statements given above

are there such that all of the digits are is/are correct ?
odd ?
(a) 1 only
(a) 625 (b) 2 only
(b) 400 (c) Both 1 and 2
(c) 196 (d) Neither 1 nor 2
(d 120 : .
5. Consider the determinant
2. What i A ap a3 ap
t is 22 C(n,r) equal to ? A=|ay ay ay
- as; as (as3
(a) 2" If aj3=yz, ay;=2zx, a33=xy and the
E minors of a,3, a3, a33 are respectively
() 3 (z-Y), (z=x), (y —x) then what is the
© 2 valueof A7~

@) E-y)Nz-x)(y-x)
®) G-y)y-2)(x-2)

@ 3*

3. If different permutations of the letters

of the word ‘MATHEMA Sre © G-ez-x)y-20x+y+2)
listed as in a dictionary, @y many @) Sk S i
words (with or without ing) are

1 0 0

there in the list bef@e first word
6. If A={0 cos@ sinf J, then which

that starts with C&Q

(a) 302400 0 sin@ -cosé

(b) 403600 of the following are correct ?
© 907200 1. A+ adjA is a null matrix
d) 1814400 2. A' + adjA is a null matrix

3. A- A7 is a null matrix

4. Consider the following statements : Select the correct answer using the

1. If f is the subset of Z x Z defined code given below :

be= {(xy! x"y); X,V € Z}: then (a) 1 and 2 only
S is a function from Z to Z.
(b) 2 and 3 only

2. If f'is the subset of N x N defined
by /= {(xy, x +); x,y € N}, then ()-"1; s S-only
fis a function from N to N. (d) 1,2 and 3

3 A — DFRG-S-MTH
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7. 3% X W 3 x 3HfeE 1 e R, YO

2 x 3 Hife F AR B AR Z T 3 %2
Fife @1 srege ®, o Frafafas & @
- T TS ® 7
1. ZV)Xx s 9 wfafeat amn ==t
aTE ®
2. Y(XZ) @& 4 wfafseat amen =t
e ®

3. X(yZ) afcafia =&

i fiu T fe @ W@ W EE W
fig

(a) Fae 132

(b) Fad 23R 3

(c) Faa 133

(d) 1,23R3

et R wheolt % fro @t
ANTF, %?gvm%lﬁtg@\ ?
@ 0 = S

N
(®) 1 :
©) 2
(d) ¥aa: N\

. Frafafas wa | e s .

1. V2 3R 5 & &= f aft safm
A W GHeAd & FAd
= R |

2. 100 & B¢ wft fawwr quist &
wH=ad TS yRkfia aq=aa ® |

I # ¥ FN-UT/FN-8 FUT G
R/R?

(a) &ae 1

(b) Fad 2

(c) 1 3R 2 A1

(d FqM 1,782
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10. frrafofea @t w fEr $ifso .

11.

12.

1.24+4+6+..+2n=n*+n

2. FAF nl+n+4l VAS gAY
& n & fou wew ww SRS
e T

IH # A FH-A1/FN-8 FAA TR

/% ?

(a) ¥ 1

(b) &ad 2

() 13R23Et

(d) AALTER2

miﬁﬁQp,q(p>q),ﬁqﬁm
R+bx+c=0 % T €, & >0

R1aR pP2+¢g>-11pg=0%, M p—¢q
foras st ® ?

(a) 3c

(b) 3c
(c) 9e

(d) 9c

12 HSITSAT AT U HERHS & A
@R T g9 1 = w0 R, el udw

o H S 1em @ ?
(@ 1442 cm
(b) 2++2cm
(©) 2+3cm

(d) 3++/3cm

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

7. If X is a matrix of order 3 x3, Yis a

matrix of order 2 x 3 and Z is a matrix
of order 3 x2, then which of the
following are correct ?

1. (ZY)X is a square matrix having
9 entries.

2. Y(XZ) is a square matrix having
4 entries.

3. X(YZ) is not defined.

Select the correct answer using the
code given below :

(a) 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only
(d 1,2 and 3

8. For how many quadratic equations, the

sum of roots is equal to the product of
roots ? K\QQ

(@ 0 N
() 1 S
© 2 §&
(d) Infinitely man§

. Consider the following statements :
1. The set of all irrational numbers
between ~/2 and /5 is an infinite

set.

2. The set of all odd integers less
than 100 is a finite set.

Which of the statements given above
is/are correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

Download all NOTES and PAPERS at StudentSuvidha.com

10. Consider the following statements :

11.

12.

1.244+6+..+2n=n*+n

2. The expression n® + n + 41 always
gives a prime number for every
natural number »n

Which of the above statements is/are
correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Let p,q (p>q) be the roots of the
quadratic equation x*+bx+c=0
where ¢>0. If p*+4*-1lpg=0,
then what is p — ¢ equal to ?

(@ 3Ve
(b) 3c
() 9Ve

(d) 9c

What is the diameter of a circle
inscribed in a regular polygon of 12
sides, each of length 1 cm ?

(@) 1++2cm
() 2++2cm
(¢) 2++/3cm
(d 3+V3cm
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13. 9 #ifIT 4 = {7, 8, 9, 10, 11, 12, 13,
14,15, 16} R AR f: A > N, f(x)=x%*
WEOH IWA UGS, gRIT gRenfya
R 1 ¥ aReR § forem srma € 2
(a) 4
®) 5
(c) 6
@ 7

14. 99 T R, N A NR TF §a8 & S

R={(x,y):x,y € Naﬂ'(xz=y3} LY

sfemfyg 2 | fe=fofes & @ fF-3

wel wE ¥ ?

L@ xeNFTW (x,x)eRE

2. (x,y) eR=>(y,x) €R

3. (x,y) € RIAR
(nz)eR=>(x,2) eR

T for T Fe = W@ WS IR

gf

(a) ¥ 1 AR 2

(b) wae 2 3HR3

(c) Faw 133

(d) 1,23R3

frrafafas = foar $ifsa .
1. ANB=ANC=B=C
2. AUB=AUC=>B=C

Sww # § FH-w /R @ g/
€7

(a) oae 1

(b) Faa 2

(c) 1323

(d I 1,782

15.

DFRG-S-MTH - A

6

s (03) vt & frg feafife w
ﬁﬂﬂ@fﬁ'ﬂq:

HqH #ifSe z=

_1+isin@
" 1-isin@

e i=V-1%

16. z T A9 9T § ?
@ 1
b) V2
() 1+sin0

1+sin20
1-5in0

17. 191 @ F1 § aifeh z Yga: areafas € ?
@5
(¢) nn
(d) ¥ 207
STEl n T il ®

18. &IV @ F1 ® 16 z Yga: sfrwfeum
g2

@@ 2
2n+Dm
®)

(¢c) nxm

(d) 2nn
SRl n T I §
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13. Let A= {7, 8,9, 10, 11, 12, 13, 14, 15, Consider the following for the next three
16} and let f: 4 — N be defined by (03) items that follow :
f(x) =the highest prime factor of x.

How many elements are there in the Lot o LHIEMO b s oY
range of f? 1-isin@
(a) 4 16. What is the modulus of z ?
(®) 5 :
@6 (@)
@ 7 (b) 2
14. Let R be a relation from N to N defined (c) 1+sin%0
by R={(x,y):x,y € N and x*>=)}.
- - 1+5in%0
Which of the following are not @
correct ? 1-sin’0

l.(x,x)eRforallxe N
17. What is angle 0 such that z is purely

2 (,.t,y)eR=>(y,x)eR vohl?
3. (x,y) e Rand e
(»r,2)eR=>(x,2) e R Q® (a) -5
Select the correct answ ing the
code given below : Q‘b§ (b) w
(a) 1 and 2 only @Q\
Q (c) nm
(b) 2 and 3 onl&
(d) 2am only

(c) 1 and 3 only
@ 1,2 and 3 where n is an integer
, 2 an

18. What is angle 0 such that z is purel
15. Consider the following : B ang u z is purely

imaginary ?
1. ANB=ANC=>B=C
@ 5
2. AUB=AUC=B=C 2
Which of the above is/are correct ? ) Qn+ )7
(a) 1 only 2
(b) 2 only (c) nn
(c) Both 1 and 2 (d) 2nn
(d) Neither 1 nor 2 where n is an integer
7 A - DFRG-S-MTH
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Fe A= (03) wE ¥ fou Feaffes w el de (03) vl & fou fefafes w
fommr $ifsio . femr difso .

7 ife P adim R A 4% (0 g’ F R vER R fEw At
WG9 n YFTCHS UG1 &1 TRTHA & | §F Sifoig

O et =1 adwm wwiae 4G B & waw 22. 3f¢ x3 3R %6 & TTH TR & A g F
gATHS UGl @ ARRA © | "E g HH TS ?
P:0=(5n+4):(9n+6)% |

(@ p
19. A% Y9 9 9 B ¥ WO U ¥ U
R (b) 9
(a) 1/3 & El?.
(b) 2/5
() 3/4 @ p
T Q 23. SR & HeY Y& & OS] N FS FT
Q
zo.aaﬁawéqamaﬂqmaq@\? ? (59 WER x N IR ura # /) ?
¥
(@) 11/29 $&Q% @ pg
®) 2249 ®) p/g
(c) 33/59 o
(d) 44/69
(d) 1/(pqg)

21. 3f¢ d, A ¥ 99 3R & IR D, B 9
IR g, O Freafifeg & & 9F-a1 929 24, formr a1t W 22 3R x4 IOTieh SRR § ?

| BRI ?

(@ p:gq=7:2
(a) D>d
b) D<d ®) P:g?=17:2
(c) 7D > 12d () p:gq=2:7
(d) ST # & FIE T @ p*ig?=2:7
DFRG-S-MTH — A 8 ;
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Consider the following for the next three
(03) items that follow :

Consider the following for the next three
(03) items that follow :

Consider the binomial
(p+gx)°:

Let P be the sum of first n positive terms of expansion of
an increasing arithmetic progression 4. Let
Q be the sum of first n positive terms of
another increasing arithmetic progression B.

Let P: Q= (Sn+4): (9n+6) 22. What is the value of g if the

coefficients of x> and x°® are equal ?

19. What is the ratio of the first term of A

to that of B ? @ p
@ 173 ®) ¢
() 25 © 3
(c) 3/4

(d). p?
(d 3/5

23. What is the ratio of the coefficients of

20. What is the ratio of their 10th s? middle terms in the expansion (when

K\Q expanded in ascending powers of x) ?
(@) 11/29 | Q§§ <
(b) 22/49 $&Q =
\)
() 33/59 S b
(d) 44/69 ey e
(d) 1/(pq)

21. If d is the common difference of 4, and

D is the common difference of B, then 9 :
24. Under what condition the coefficients

which one of the following is always
correct ?

@@ D>d
(b) D<d
() 7D > 12d

(d) None of the above

9

of 2 and x* are equal ?
(@ p:g=7:2
(b) PP:q?=7:2
© p:g=2:7
(@ PA1g?=2:7

A - DFRG-S-MTH
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e @ (03) vl & fou frafofaa
ﬁiﬂﬁﬁ!’q: '

qq

25.

26.

27.

‘QUESTION’ R fo=r ifSia :

4 FER aTel Uy forae wnds an e
Y5 S0 T Hehd & R ¥ wae |
q &R (vowel)3ﬂ'( o oA (consonant)

7 ?

(a) 36

(b) 144

(c) 576

(d) 864

8 FERl I W e wrdw a1 s

STsg SFTT ST Hehol & ForH oao1 IR &1
TR Tl W A & ?

(a) 288

(b) 576

(c) 1152

(d) 2304

8 &R I W Toraw wrde a1 fd=s

Iee FFTT AT e © s gt =ioH us
1y A B ?

(a) 5760
(b) 2880
(c) 1440
@) 720

DFRG-S-MTH - A
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F W\ (03) v & fou feafafea w
ﬁﬁ'ﬁiﬁﬁ'q:

AW T A, IR 4 W AR ®, SE

ap a2 a3
A=|ay ay ap| g IR Ci» Gz, Cy3
az) 4z dzz

TN ayy, Gy, 3 D FEF € |
28. a)1Cy; +apChy + ap3Cy3
A TR 7
(a 0
(b) 1
() A
@ -A

29. aCy +anCiy +anCys
& HE TR ?

(a) 0

(b) 1

() A

(d -A

ay az 4an

a3 dizz a3
ay; 4z 4ap

30. AR TTE ?

(@ 0
(®) 1
(c) A

d -A
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Consider the following for the next three
(03) items that follow :

Consider the word ‘QUESTION :

25.

How many 4-letter words each of two
vowels and two consonants with or
without meaning, can be formed ?

(a) 36

(b) 144

(c) 576

(d) 864

26. How many 8-letter words with or

without meaning, can be formed such
that consonants and vowels occupy

alternate positions ?
&
(a) 288 §Q§
\Q‘Zr

(b) 576 QQ

$
(c) 1152
(d) 2304

27. How many 8-letter words with or

without meaning, can be formed so
that all consonants are together ?

(a) 5760
(b) 2880
(c) 1440

(d) 720
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Consider the following for the next three
(03) items that follow :

Let A be the determinant of a matrix A4,

a a2 a3
where A=| ay; ay); ay;|and Cyy, Cyy, Cia

Q3 43 433
be the cofactors of ay,, a;,, a,; respectively.

28. What is the value of
ayCy + aCyp + a363?

(a 0
(b) 1
(c) A

(d)-~A

29. What is the value of
a4y Cpy + a3Cip + ay3C13 ?

(@ 0

(b) 1

(c) A

(d -A

a az 4a,

Qy3 a3z ap3
az; axp ap

2

-

30. What is the value of

(@ 0
(b) 1
() A
d) -A

A — DFRG-S-MTH
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e @ (03) v & fou feafafes w
for $ifog -

mﬁ'ﬁlﬂf&)@%%ﬁﬁmﬁ x,yeN
ST f(x +y) =1 () £ () T T IFR T
A efF r)=2%:

31. afg z”:f(x)=2044%,??fn7ﬂﬂmw

n=2

?7?

(@) 8
(®) 9
© 10

@ 11

5
32. Y f(2x-1) formds s R ?

=
(a) 341
(b) 682
() 1023

(d) 1364

33. iz‘ f(x) foraes aeR R ?

x=1

@ 1365
®) 2730
(©) 4024
(d) 5460

DFRG-S-MTH - A
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e dm (03) il & fon femfafes w
fommr $ifor .

s favafeamem ¥ sebeaid, Geaid 3R
il § YgH WeH ﬁ?(’,l Fad x BEAN
(x < 6) @ T el H UeH el 3R FA 15x
JEl H I5H A | Sx IgF SEhesid #,
(4x +15) 95 Feaid # IR (x +25) TSH
Tiettater # fog mq |

34, Tt & 1 e @ 3 Q| F
e firet ?

(a) 30-4x

(b). 35-7x

(c). 40-7x

(d) 45-5x

A dRi e A I T D
Qi # eH fret ?

(a) 30— 6x

35.

(b) 35—6x
(c) 40-5x
(d) 40-6x

forcmt = a1 S 7 @ 3 T Qa F
g fier ?

36.

@@ 21x-40
(b) 21x-35
(c) 20x-35
(d) 20x-25
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Consider the following for the next three
(03) items that follow :

Let f(x) be a function satisfying f(x +y) =
f(x)f(y) for all x, y € N such that f(1)=2:

3. If if(x)=2044, then what is the
vallizzof n?
(a) 8
(b) 9
(c) 10
(d) 11

5
32. What is Y, f(2x—1) equal to ?

x=l

K\Q
(a) 341 @,5
Q‘Z)-
R
(b) 682 @$
(c) 1023
(d) 1364

6
33. What is )2 f(x) equal to ?

prer
(a) 1365
(b) 2730
(c) 4024

(d) 5460

Download all NOTES and PAPERS at StudentSuvidha.com
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Consider the following for the next three
(03) items that follow :

A university awarded medals in basket ball,
football and volleyball. Only x students
(x < 6) got medal in all the three sports and
the medals went to a total of 15x students.
It awarded 5x medals in basketball,
(4x + 15) medals in football and (x + 25)
medals in volleyball.

34. How many received medals in exactly
two of the three sports ?

(a) 30-4x
(b) 35-7x
(c) 40-7x

(d) 45-5x

35. How many received medals in at least
two of three sports ?

(a) 30-6x
(b) 35— 6x
(c) 40-5x

(d) 40-6x

36. How many received medals in exactly
one of three sports ?

(a) 21x-40
(b) 21x-35
(c) 20x-35
(d) 20x-25
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I @ (03) Wt & T Fafafes w 39. A it TRATE H1 Fraw 7= = g ?
ﬁ'ﬂ'ﬂ%ﬂ,:

@ 7
0 sin’@ cos’0 y
HE AT 4=|cos’® 0 sin?@| 3R (b) 7
sin?@ cos’@ 0 3
© 3
A=P+ Q% V& P U wAliE g ® 3K i
Q& faww-wwfia smegg © | @d 1
37. P s # 7 | s W (03) vt & fog Frafofaa w
ﬁ?ﬁiﬁﬁlﬂ,:
(0 1/2 1/2
@@ (172 0 1/2] ABC & PisoneR {@E § el 4B=16m,
(U2<17z2 9 BC=10m 3K CA=10m ® | 5B 4B %
011 wegfag R us dvaree (fosrel-s<it @)
(b) 101) fem 2 | 78 dude i B | 45° @ S0
e e Jafa war # |
(0 -1 1 Sqare 1 3
(c) cos26[ 1 0 -1] @ ¢ S
LeE a0 N (%) o3m
Q (b) 7m

T @ (c) 8m

(d) cos26| 1/2 G\Q‘G-z/z (d 9m

-1/2 0

: Q& 41. 4Bty R ® ?
sinC

38. O fras =R § 7 @ 17m
(0 1/2 1/2 ®) 50 m
(@ |12 0 ‘12 3
(/2 112 0 © %m
(
adid }] @ 16m
13 0 42. cosA+cosB+cosCﬁ?Hﬁ¥WI%?
B @ 1
() cos26| 1 0 -1 41
- [—1 I oJ o 23
37
0 -12 12 © 33
(d) cos20| 172 0 -1/2 33
| -2 12 0 @) 33
DFRG-S-MTH - A 14
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Consider the following for the next three
(03) items that follow :
0 sin’0 cos’@
Let A=|cos’@ 0 sin’6| and
sin?@ cos’® 0
A =P+ Q where P is symmetric matrix and
Q is skew-symmetric matrix.
37. What is P equal to ?

(0 12 172
@ |12 0 12
(172 12 0

(011
®) |1 01
130

T
() cos20| 1 0 -1

-

-1/2

-1/2
(d) 00529[ 1/2 é@l&

38. What is Q equal to?

(0 12 12
@ (12 0 (12
(172 172 0

(011
® 101
(330

0 -1 1
(c) cos26l 1 0 -1
-11 0

0 -12 12
(d) cos26| 172 0 ~-1/2
12 112 0

15
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39. What is the minimum value of
determinant of 4 ?

I

(a)

(b)

(©
d

= Al =

Consider the following for the next three
(03) items that follow :

ABC is a triangular plot with 4B =16 m,
BC=10m and CA=10m. A lamp post is
situated at the middle point of the side 4B.

The lamp post subtends an angle 45° at the
vertex B.

40. What is the height of the lamp post ?
(@ 6m

(®) 7m
(c) 8m
(d 9m

41. What is
(a) 17m

(b) %m

(©) ?m
@ 16m

equa.lto‘?

42. What is cos A +cos B +cosC equal to ?
(@) 1

) 5

© 3z

@ 33

A - DFRG-S-MTH
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e @ (03) vt ¥ foo fFeafafee w
faam Siforg -

o g g e ¥ gt # 2 fig palk
ENIRA ARG ER | AR F QA
PR xR QRGP y? (x>y) | PAR Q
¥ MR & i & I o w150 3R
75°% |

43. firae | MR & o foRaelt JAE W
R?

=
|
<

(a)

&

£
l
b

(b)

&

=
1
bt

(©

.
%

|
<

(@

~l
%

4. af AR T oS ¥ FFE o ® @
cot feraeh =R & 2

V3(x-y)

(a 2+ Xy

V3(x-y)
®) 2-2E2)
@ 2436+

x-y
V3(x+y)

(@12

DFRG-S-MTH - A

45, Wi 6t srars | e ?

Jl+{2+ﬁf+y)}2

(a)

2J_

(b) "‘_J"j1+{z—-‘/§("“’)}2

(c) f-_y\!l+{2+ﬁ(x+y)

@ x-y\/1+{2_@(x+y>}2

32

(d) 4cos(l Jcos(—)
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Consider the following for the next three 45. What is the length of the tower ?
(03) items that follow :

There are two points P and Q due south of @ x—y‘jl+ {2+ ‘G(i*' y)}2

a leaning tower, which leans towards north. 243 x—y
P is at a distance x and Q is at a distance y
from the foot of the tower (x>y). The

angles of elevation of the top of the tower x-y V3(x+y) 3
from P and Q are 15° and 75° respectively. (b) Z_-J_‘.-’;- i g
43. At what height is the top of the tower _ 2
above the ground level ? © =2 [1+{2+ V3(x+y)
43 X<y
@ =%
= @ =2 J“{Z'Mr
x —
o £ 43 y
43
46. What is the value of cosec(-— %—’5) ?
(c) x;—y Q
2
i 6(,\\% (a) \/5
@) - N
N ® -+
QN | V3
44. If 0 is the inclination of the tower to © 2
the horizontal, then what is cotf equal
to ? (d -2
@ 5 B(x-y) 47. What is the value of
¥ cos(?—’;) + cos(%f—) +
| liz Z)o
(b) 2-@ Zcos( 17 )cos(”) :
x+y (a) 0
1
3 (x+y) ®)
(oS 24 x=y 67 T
(c) 4cos(-ﬁ) cos(ﬁ)
V3(x+y) 11z n
d 2- e (d) 4 cos[ l—) cos(ﬁ)
17 A - DFRG-S-MTH
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48. tan(%’i)wmw%? (©) %

(a) ﬁ-l (d __%_
(b) V2+1
© 1-+2 52. 7f% secx =23 & Ak x Y wqgate #
(@ —(Ji+1) @ A tanx+sinx T AT T ?
' _ 625
49. tan'cot(cosec12) ferreh ek & 7 @ -8
@ % ® -5
® £ © 3=
© % @
@) % 53. tan?165° + cot?165° F A FT & ?
@ 7
50. Ps(st ABC ¥, a=4, b=%¢c=2%| ®) 14
cos3C Torad aer &2
. (©) 443
® =z
11
®) 178
% 54. sin(2mr+%‘) sin(2mz—§6£) H HH
(")a e, T neZe?
@ & @ —3
o+ o 3
51. c0s36° — cos72° fererah s @ ? ®) -3
- 5
® 7 © %
5
(b) —% @ 3
DFRG-S-MTH - A 18

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

48. What is the value of tan(ésif.) ? © 3

1
@@ 2-1 @ -3
(b) V2+1
25
© 1-+2 52, If secx = 0 and x lies in the fourth
quadrant, then what is the value of
() _(\EH) tanx +sinx ?
@ -2
49. What is tan'cot(cosec'2) equal to ? 3 T168
n _343
625
n L2 4
) % © 168
343
@5 @ ‘500
n 53. What is the value of
@3 N tan2165° + cot2165° ?
\
7z
50. In a triangle ABC, a @b 3, c=2. (@)
What is cos3C eq (b) 14
@ 7 @ () 43
X A
128 d 83
11
®) 138 54. What is the value of
Sz Sm
© _6'% sm(2n7z+ 3 )sm(Znn 3 ),
where n € Z?
11 '
d g
( ) 64 (a) _%
51. What is cos36° — cos72° equal to ? (b) R |
4
\5
@ 3 © 1
V5 3
® -3 @ 3
19 A - DFRG-S-MTH
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57.

55. afg 1+2(sin x + cos x)(sin x — cos x)=0
®, W& 0<x<360°%, A1 x e w7

56.

Hafag ¥ IERA A qAT x-HE
gaTeHeh foar & 75° % @ ) g g
W & wel # freafafas st w

e 15
1.’(@1,1%5(1, fﬁ)%gwﬁ%l
R T T p—

fRm R
I # A - /ENE T G
R/%?
(a) ae 1
(b) Faw 2
(c) 13R 2=t
(d T 1,72

afe P(3, 4) & & 69 & = @-ws
&1 7ex fog R A 9@ Y@ o weiiew @
R?

(a) 3x+4y—-25=0

(b) 4x+3y-24=0

(¢) 4x-3y=0

(d) 3x-4y+7=0

DFRG-S-MTH - A
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58. 8 cm ¥ A U& wwag Pre 4BC

59,

H AUR AB, y-38 W 30 YR foa &

% 4B =1 weafag, wwfig w & sk B,
wefag @ IR @ 18, 0)F A
et SR W AC ¥ Wi W@ Hw
e T § 7

(a) x-3y-8=0
(b) x++3y-8=0
© V3x+y-843=0
(@) V3x-y-83=0

wefag ¥ oA a@ ok e et
W 4 IR 6 9THSF TGS g9 AT
T g e R RE g, '
27

(@) 2x-y+1=0

(b) 3x-2y—-1=0

(c) 3x-4y+6=0

(d) 2x+3y-26=0

. T SHgd & % (0, 0) | & 3R @

Qe ae, y-aw W R Al 7w i
(3,2) 3R (1, 6)F ToRaT & A R
Ichgar FT R ?

(@)
(b)

(©)

R

(d)

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

55.

57.

If 1+2(sinx + cosx)(sinx—cosx)=0
where 0 <x <360° then how many
values does x take ?

(a) Only one value
(b) Only two values
(c) Only three values

(d) Four values

. Consider the following statements in

respect of the line passing through
origin and inclining at an angle of 75°
with the positive direction of x-axis :

1. The line passes through the point

55)

2. The line entirely lies in first and
third quadrants.
q K\Q

Which of the statemen@ven above

is/are correct ? NG
N

(a) 1 only @

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

If P(3,4) is the mid-point of a line
segment between the axes, then what is
the equation of the line ?

(@ 3x+4y-25=0

(b) 4x+3y—-24=0

(c) 4x-3y=0

(d) 3x-4y+7=0

21

58.

59,

60.

The base AB of an equilateral triangle
ABC with side 8 cm lies along the
y-axis such that the mid-point of 4B is
at the origin and B lies above the
origin. What is the equation of line
passing through (8, 0) and parallel to
the side AC?

(@) x—3y-8=0
(b) x+/3y-8=0
() V3x+y-8J3=0
(d V3x-y-8J3=0

The centre of the circle passing
through origin and making positive
intercepts 4 and 6 on the coordinate
axes, lies on the line

(@ 2x-y+1=0

(b) 3x-2y-1=0

() 3x—4y+6=0

(d) 2x+3y-26=0

The centre of an ellipse is at (0, 0),
major axis is on the y-axis. If the

ellipse passes through (3, 2) and (1, 6),
then what is its eccentricity ?

V3

(a) >

)

(®)

()

Ml&

&

(d)

A — DFRG-S-MTH
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62.

63.

fag 42, 4, 6), B(-2, 4, -2), C(4, 6, 4)
IR D@, 14, 12) | fEr Hifvm |
frafafea o=t # @ FF-wr /392
TR/ ?

1. & fag sma@ 4BCD % s §

2. AC @1 weafsg, BD
&

T R |

= fu o 5 @ I TG IW
£ G SIS

(a) &ae 1

(b) %ae 2

(c) 13R 23t

(d IR 1,782

T el & FHta ;
24+ +2—4x—6y—82-16=0 R
fomr AifSre | frmfeafea & & FF-a1/
F-Y I TR /8 ?

1. TE M z-37& S w9f oRar |

2. 30 M & &g gHAA
x+y+z-9=0R & 2 |

DFRG-S-MTH - A
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65.

I for T g F OWER W aE SR
qf ‘

(a) %ae 1
(b) &ad 2
(c) 1323t
(d AN 1,782

. U& gad, faceme et w2, 2, 1

@S FIGT € | 56 oHad & Al
& feprsaTd (direction cosines) ¥4T
g7

(a) <273, 2/3, 1/3>
(b) <173, 2/3, 2/3>

© (F.k.F)
@ Fff
Freaferfiaa ot w fram i -

1. y-3@ & fogorquma <0, 4, 0> @
LET R

2. 298 W od W@ & fegsmu
<5,6,0> W §

ST # F I-91 /-8 FAT R
?/87

(a) Fa« 1
(b) a2
() 1323t
(d A 1,782
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61. An equilateral triangle is inscribed in a
parabola x? =+/3y where one vertex of
the triangle is at the vertex of the
parabola. If p is the length of side of
the triangle and g is the length of the
latus rectum, then which one of the
following is correct ?

(@ p=4q

®) p=+3qg
(© p=2V3q
d 2V3p=¢q

62. Consider the points A(2, 4, 6),
B(-2, -4, -2), C(4, 6, 4) and
D(8, 14, 12). Which of the following
statements is/are correct ?

1. The points are the vertices of a
rectangle ABCD. \Q®

2. The mid-point of A@ the same
as that of BD. \Q(b'

Select the com@%@nswcr using the
code given below:

(a) 1 only
(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2
63. Consider the equation of a sphere
2+ +22-4x-6y—82—16=0.

Which of the following statements
is/are correct ?

1. z-axis is tangent to the sphere.

2. The centre of the sphere lies on
the plane x +y +z-9=0.

64.

65.

Select the correct answer using the
code given below : '

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

A plane cuts intercepts 2,2, 1 on the
coordinate axes. What are the direction
cosines of the normal to the plane ?
(a) <2/3,2/3, 13>

(b) <173, 2/3, 2/3>
R
@ &35

Consider the following statements :

1. The direction ratios of y-axis can
be <0, 4, 0>

2. The direction ratios of a line
perpendicular to z-axis can be
<5, 6, 0>

Which of the statements given above
is/are correct ?

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

A - DFRG-S-MTH
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66.

67.

68.

PORS T &¥ieR g & | IRk PR=3a
#R 0S =5 &, & PO formd e & ?

(a) a+b
®) a-b
© E’;b

a-b
@ %3
A i 7 @K b D W = wRey
£, 5 G+2b IR 57-4b s@ ¥ | 7 3K
b % o€ o B R 2
@ %

S
\Q
® Z &g\
\Q‘Z}
© 3 N
N

n

@ 5

A T 7, b 3R ¢ UE B ' |
e zord afewr € |

{[35’+25’J x[53-43)}-[3 +2E-’)
forass SRR R ?

(a) -8

(b) 32

(c) 8

@ 0

DFRG-S-MTH - A
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69.

70.

ri S

x % 3 FA-8 7 €, e fog afew
2x2f+3xf+f? IR f—2f+x2£
& o9 &1 o7 ifre o § 2

(@) 0<x<2

(b) x<0

() x>2

(d 0<x<2

P 4BC & W 4, B 3k C &

feufe afew s 4k, 374 /+5k ok
3/+3k § 13w C fras R ® 2

(@)

")
6

(b)

r
-4

()

r
3

(d)

z
2

A ST z=[y] IR y=[]-x &
wEl [] Weww quie e ® | ARk x
quifes el § df g9 §, @ z T
AR T ?

(@ -1
(b) 0
© 1

(d 2
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66. PORS is a parallelogram. If PR=a

67.

and @=5’, then what is P_é equal
to ?

(@) a+b

®) a-b

(©)

S ]

Sl

@ 45

2l

Let 2 and b are two unit vectors such
that 2+2b and 52 —4b are perpendi-
cular. What is the angle between a

and b ?

T
@ Z §<®®
n = f§)
@Q
© 5 N
3
n
@ 75
.Let @, b and ¢ be unit vectors lying

on the same plane. What is

{[33+23)x(53—42]}-[3 +2E’)
equal to ?

(a) -8

(b) -32

(c) 8

(d 0

25

69. What are the values of x for which the

angle between the vectors
2x2 7 +3xj+k and F-2+x%k
is obtuse ?

(a) 0<x<2
(b) x<0
(c).x>2

(d 0sx<2

70. The position vectors of vertices 4, B

71.

and C of triangle ABC are respectively

F+k, 384 j+5k and 3/+3k. What is
angle C equal to ?

@)%
® 7
@3
@ 7

Let z=[y] and y = [x] —x, where [.] is
the greatest integer function. If x is not
an integer but positive, then what is the
value of z?

@ -1
(b) 0
© 1
@ 2

A - DFRG-S-MTH
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e -q%f(x) s, 3“( g(x) kt2w® 76. I(COSX)IS_(Slnx)IdeW% ?

R & fh fog(x) = = gof(x) &, ??r k T \/sinx-cosx

HE R ?

@ 7 (a) +/sinx —+/cosx +c¢
(b) 5 (b) sinx ++/cosx +c
(c) 4 (¢) 2+/sinx +2+/cosx +¢
(d 3

(d) %Jsinx +—21—'Jcosx +c
73. B f(x) = logyo(x2+ 2x + 11) &1

YATH A T R ? S\
@ 0 77. afq y=—{%1¥‘-_—8m|x+‘\)x2—16|
dy
2
©) Q4216
(d) 10
b) x-Vx2-16
74. [ (x*)*(1+ Inx)dx Tred sqaR® ?
'[ ©) Vx*-16
@) e
(d) 4Vx*-16
(b) %x2x+c
78. 3% y=(y ®, @ feafafes § @
() 2F+e FA-AT FAT G R ?
@ Fx+c

@ 2404200 =0

75. [ &* {1+ Inx + xinx}dx ToFedh sreR & ? &
(b) E—xy(1+2!ux)=0

(@) xeflnx+c
(b) x%Inx+c | (c) gxy -2xy(1+Inx)=0
(c) x+eflnx+c

(d) xe*+iInx+c (d) %+21y(l+lnx)=0

DFRG-S-MTH - A 26
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72.

73.

74.

75.

If f(x)=4x+1 and g(x) = kx +2 such
that fog(x) = gof(x), then what is the
value of k?

@@ 7

(b) 5

(c) 4

d 3

What is the minimum value of the
function f(x) = logo(x*+ 2x + 11) ?
(a) 0

®) 1

(c) 2

(d) 10

What is [ (x*)*(1+Inx)dx &@&m ?
(a) x*+c
®) L:%+e O
(©) 2F+c

(d) Exx—fc

What is [e*{l+/nx+xinx}dx equal
to ?

(a) xeflnx+c
(b) x*e’Inx+c
(c) x+eflnx+c

(d) xef+Inx+c

76.

77.

78.

15 _ (e 215
What is J'(cosx) (sinx)

. dx equal
\/sinx-cosx

to ?
(@) +/sinx —+cosx +c
(b) +/sinx ++/cosx +c¢

(c) 2+sinx +2+/cosx +c¢

(@ 7sinx+ Icosx +c

= xVx* =16 e

If y 5

x+\/x2—16I,

then what is -“% equal to ?

(@) xVx*-16
®) x-Vi*-16
© V¥*-16
d) 4Vx2-16

If y=(x"), then which one of the
following is correct ?

(a) % +xy(1+2Inx)=0

(b) %-W(Hzm):o

(©) %—2xy(l+1nx) =0

dy 5
(d) 5 +2xy(1+Inx)=0

A - DFRG-S-MTH
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79. 3(sinx — cos x) + 4(cos?x — sin?x) &

iftrec A T R ?
(a) 1
() V2

(c) V3
(d 2

80. y=V1-x%, y=x 3R y=0grT uReg
& T &he (W Sty #) | 2

@ 7

(®)

oy

©

00|y

@ 5

81. x—|y|=03R x—2=0gR "Rag &=
T SR TR ?
(@) 1
() 2

(c) 4
@ 8

82. R f(@) = sec’a—1 &, A

f(@)+ £(B)
@ T e

DFRG-S-MTH - A

84.

8s.

x
. I—)z

@ fla-p)
() f(e+p)
© f(@f(B)

(@ f(aB)

AR f(x) =In(x+1+2%) &, @

frefofea 3 @ A-m AR 2 7
@ fG)+/(x)=0

() f() f(x) =0

© 206 =1(x)

(@ £() = 2()

X

lim fras s & 2
x—mJl —cosdx %
1
a a————
@ 242

i
(b) 2
(c) V2
(d) & @ s o 2

4x-2m

lim feraes e @ 2

(a) -4
(b) -2
(c) 2

@ 4
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79. What is the maximum value of

80.

81.

82.

3(sin x — cos x) + 4(cos>x — sin’x) ?
(a) 1
(b) 2

() 3
@ 2

What is the area of the region (in the

first quadrant) bounded by y = Vi-x2,
y=xand y=07?

@ 7
n
®) & &
© % S\\Q
: S
Q\@
n
@ 13 @$

What is the area of the region bounded
by x—|y|=0andx=2=07?

(a) 1

(b) 2

() 4

(d 8

If f(cx)=+sec’x—1, then what is
f)+ f(B) 1to?

i-F@7@) "

29

85.

@ fla-p)
(b) f(a+p)
© f(a)f(B)
(@ f(ap)

If f(x)=In(x+1+x2), then which

one of the following is correct ?
(@ f(x)+f(=x)=0

®) f(x) -f(=x)=0

© 2f(x)=F(=)

(@ f() = 2f (=)

. What is lim X ual to ?
.t—wa—cos4x 4

-
®

e X,
®) 242°

) 2

(d) Limit does not exist

What is lim % equal to ?

x—% COS
(a) -4
(b) -2
© 2
(d) 4

A — DFRG-S-MTH
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86. afe f(x) =x2+++'il g lim £(x)
foress SR ® 7

(a 0

(b) 1

(©) 2

@ lim f(x) T S T R

) T
87. lim SD_(X+A) —SINX oo R
h—0 h

R7?

(a) sin’x
(b) cos’x
(c) sin2x

(d) cos2x

N

Q
g\\

88. WM WY f(x) T J@T m%ﬁa

)~ g %@;@o A
A AT A = {00} + {g@)}* ¥ |
frfafas o w fer i

1. "’3) =0

2. h(1) = h(2)

IFEE A A IH-G1/H- AT qE
/%7

(a) wae 1
(b) e 2
(c) 1322
d Fd1L,A&2

DFRG-S-MTH - A
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89. afe y=:n2["z"x“J A x=0W

90.

91.

92.

X+x+1
dy
Eﬁmﬂ?w%?
(a) -2
() 0

{c) 1
(d) 2

4.3
afg %[l+x2+x4} =ax+bx’ g

1-=x"¢x
Frafafga & & F-ara@ & 2
(a) a=b
(b) a=2b
(c) a+b=0
(d 2a=b

frafafaa # & foom wieg & sefiw
Fq f(x) = (psecx)? + (g cosecx)?
T AT A W o § ?

. 4
p

(b) cot’x= g—

(c) tan’x=pg

(a) tan’x=

(d) cot’x=pq

wo f(x)= E(x J? & g A

mmﬁﬁn%?
(@ x=35

(b) x=4
(c) x=45

(d) x=5
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86. If f(x)= R

2
X '+xXx+ :
then what is

lim f(x) equal to ?
(@ 0
() 1
(c) 2

(d) lim f(x) does not exist
x—0

sin?(x + k) —sin’x

. What is ’{l_!:lo 7 equal
to ?
(a) sin’x
(b) cos’x
() sin2x \Q®
S\
(d) cos2x R
\Q‘Z}

Q

88. Let f(x) be a &ction such that
f'x) = gx) and f"(x) = —f(x). Let
h(x) = {f(x)}? + {g(x)}* Then consider
the following statements :

1. h3)=0
2. k(1) = h(2)

Which of the statements given above
is/are correct ?

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

Download all NOTES and PAPERS at StudentSuvidha.com
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89.

91.

92.

I 4

Ify= lnz[%) , then what is %
at x=0 equal to ?

(a) -2

(®) 0

() 1

d) 2
(1+x4+x3

> 3 4}=ax+bx3, then

I=x"+x

which one of the following is correct ?
(a) a=b

(b) a=2b

() atb=0

(d) 2a=b

Under which one of the following
conditions does the function

£(x) = (p secx)?+ (g cosecx)?
attain minimum value ?

(a) tan?x =1

(b) cot’x =
(c)
(d)

Where does the function
7
f(x)=Y (x-j)

attain igl minimum value ?
(@ x=3-5

(b) x=4

(c) x=45

(d) x=5
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93.

94.

95

o f(x)= {|x]+1, 0<|x|=<3
B x=0

F wed ¥ feafafes s | e

$ifsra .

1. %o & iftreham AW SEd x =3
R T B # |

2. G H WA AoqqH (S
fuffem) S x=0 | Wi B
(

I # ¥ HN-91/FH-¥ F99 w8
/%7

(a) Had 1
(b) Fae 2
(c) 1323t

(d AAML,T82
«

o i
@Q
(a) -1 @
(b) 0

(c) 1
(d) In2

. afe J‘:n (sin*x+cos*x)dx=k ®, @

J.;o’r (sin4x+cos4x)dx AR ?
(a) k

(b) 10k

(c) 20k

(d) 40k
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96.

97.

98.

/2
f (€™ *sin x + €*™* cosx)dx

ﬁ»‘aﬂsm%?
(a)

o

e
&+

(b)

(©
@ 0
2+y2=72 y=sinx IR x=0

TRI W9¥ Sgaiy H qRag & &1 8%
R ?

~

&
|

e

|
(]

(b)

|
—

(©)

-hl?"u Nl‘““w -h-law .t;|=1m

|
3]

(d

1
:
7
5

it
g

1. e w4 +cos(ay
WU 12 |
2. Adhe GHIEHT

[%}1 cos(%) =0

fAfe 28 |
I9AH H ¥ I-91 /-4 F99 Gel
/%7
(a) w4 1
(b) & 2
(c) 1327t
(d FAr1,7Er2
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93. Consider the following statements in

94.

9s.

respect of the function
|x[+1, 0<|x|<3

f(x)={ L 20

1. The function attains maximum
value only at x=3

2. The function attains local mini-
mum only at x=0

Which of the statements given above
is/are correct ?

(a) 1 only

(b) 2 only

(¢) Both 1 and 2
(d) Neither 1 nor 2

S S
What is [ /n[ 2—1]dx ?
is Io n(x ) g{g(\

(@) -1 O
@Q

() 0 N\

(© 1

@) In2

If _[:{2 (sin"x +cos’x)dx = k, then what
is e valbe of j'02°"(sin“x e
(@) &

®) 10k

(c) 20k
(d) 40k

33

/2 : ;
96. What s [ (e sinx+e"" cosx)dx

equal to ?

(a)

(b) e“+1

(C) 1-e

(d o

97. What is the area of the region enclosed

in the first quadrant by x2+y?= 72,
y=sinxand x=07?

3

e

)\ N1

®) =2

SR s
!

(c)

@ Z -2

98. Consider the following statements :

1. The degree of the differential

v dy Y i,
equation dx+cos(dx)—0 is 1.

2. The order of the differential equa-

2 \3
tion (i—x%] +c0s(%] =g 2.

Which of the statements given above
is/are correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2
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99, Ferferg W St TR G y-378T W A 102. 1 & 50 7 Y geqol weamslt & gt 3

qTe WATal & F H Fchel GHIH TS WIS §CT B ot wifierar /a1 € 7
R ?
7
(@ 5
(@) I%+2y=0 10
17
®) 5z
(b) x:x—y—2y=0 25
18
©) y%+2x=0 © 3s
33
(d) y%—2x=0 @ 55
100. S TR 103. 3R n> 7%, 9 71 wifden & 5 7w
(dy — dx) + cosx(dy +dx) = 0 T C(n, 7) ® ?
H R TG ? @0
(a) y=tan(-§)-—x+c (b) %
(b) y=%tan[-;-)-x+c (©) %
(c) y=2tan(§}mx+c @ 1

104. 599 10 gqel weAmsti & wyead # &

Qq FE x AR y A IR wE € |
w1 WREa R 6 4 (x+y)w=a R ?

(d) y=tan(§)—2x+c

101. WF ST x W99 » wAqul wEas
& F M & W § 36K y waw gt (a)
vt ¥ oW W owi g gl
f—:i—gg,ﬁn?ﬁrﬂﬁwi? (b)%
(a) 24
(b) 25 © 25
() 27

@ 30 @ 75

|

DFRG-S-MTH - A 34

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

99.

100.

101.

What is the differential equation of the
family of parabolas having vertex at
origin and axis along positive y-axis ?

(a) x%+2y=0

(b) x%—2y=0

(c) y5+2x =0

dx o,
@ yG-2x=0

What is the solution of the differential
equation (dy — dx) + cosx(dy +dx)=07?

(a) y=tan(%)—x+c

(). y=1tan () x+e s(\Q@
§Q§
© y=2m(5£§®

@ y= m(%] ~2x+¢

Let x be the mean of squares of first n
natural numbers and y be the square
of mean of first » natural numbers.

If £=33 then what is the value
y 42

of n?

@) 24

(b) 25

© 27

(d) 30

35

102. What is the probability of getting a

composite number in the list of natural
numbers from 1 to 50 ?

o=

(a)
(b) 73
© 7

d 35

103. If n> 7, then what is the probability

that C(n,7) 1s a multiple of 7 ?

@ o0
b) 5

© 3

(d) 1

104. Two numbers x and y are chosen at

random from a set of first 10 natural
numbers. What is the probability that
(x + y) is divisible by 4 ?

@ 3

ol

(b)
(©) 25

@ 73
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105. W97 n G901 WA W W TH @1 ¢ 108, U foEwt F us ) @ s

grg=ear gt Wt ® |yt § 6 after ¥ fs Wk W (39) s
it 7 wem x+1>2 @ wge wh Wi 1 @ ?
?
: ® 3
1
@ 5
: ®) 12
1
® &n © %%
(n-1)
e @ 7
@ 1
109. T IARFE TR (B3R 3Ew) HF S
106. 97 sfima (¥R SEE) =t R & g (AW) 159 15 ¥ afte
TR IS AT R | F Wiy @ fe I it wifdrerar ¥ @ ?
1w S fr- R de Rl o £, N
F FeR Wit (4P)H € ? @ 57¢
@ 15 ® 13
1 1
®) 13 © 37
© 3 @ %
@ % 110. W& =fF & @& dgy Ayl 0-5
? | 4vmET (9fe) 3§ 99 T T w9
107. af} P(4) = 0-5, P(B) = 0-7 3R ¥ (fee) & wiftrean == 2
P(ANB)=0-3 %, & 1
PANB') + PANB) + P(ANB’) @ 3
& A TR ? 1
(b). ==
(@ 06 16
; 15
(b) 07 © 15
) 08
’
@ 09 (D5
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105. A number x is chosen at random from
first n natural numbers. What is the
probability that the number chosen

satisfies x+%>2 ?
@ =+
o
(b) (2n)
(©) (_";_11

d 1

106. Three fair dice are tossed once. What is °

the probability that they show different
numbers that are in AP ?

1

@ 1 \\@
O
&
®) 75 \sz?
Q
1 @$
© 35
@ =5

107. If P(A) =0-5, P(B)=0-7 and
P(ANB) = 0-3,
then what is the value of
P(ANB") + P(ANB) + P(ANB") ?

(a) 0-6
(b) 07
(c) 08
(d 09

37

108. Five coins are tossed once. What is the

probability of getting at most four
tails ?

@ 3

|

(38

(b)

Ll Ll
ChlUt

UJIN
MO

(©)

(d)

00|

109. Three fair dice are thrown. What is

the probability of getting a total greater
than or equal to 15 ?

@ o
®) 15
© 3¢

@ 2

110. The probability that a person hits a

target is 0-5. What is the probability of
at least one hit in 4 shots ?

@ 3

—
&=

(®)

_—
&
N

A

(=N

S
co|~a
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111. @& fe=t & 2 W g, 3 el e 3k 4 (c) 17:35
Td eI R AY 3R Ffem &

for % ¥ fordl o0 A 99 T W (d) 4:9

St 7 ?

@ 84 114. f5t 100 St & & w7 & fog
fae & awa ofy ok ol i =@t F

®) 72 9 "eEsy IS 0-7 IAT AT | HH
wfrg ¥ w9l S IA-srw fae &

() o4 o St TR A S e | e

@ 48 % J9 YA R GgEaH qUI FT BRI ?

@ 1
112. g & SRM TF 995 aen 7 3iaaq 5

H A T TS g AT AT | A ifeRan (b) 09
2R 5% @ 3 3 e Wi wE 2
(c) 07
(@) % & ) 03
K\Q
® 2= >
625 \sz} 115. T3 & HRw forelt fomifor ok & g0
@Q BN AR D EEd R weaw A
(c)-6-6-2-43 Q wiferar 06 ® | afe 1€ wza 7@l
Bt & @ fwin w1t & @ ew H
128 i 0-85 8, 3R T F ¥R TW
@ 623 i =@ % @@ W @ W B
widear 0-35 8 | F1 Wik &
113. 52 9 & T fi g F A @ AW w Frmfor e w7 W g € B e ?
gl e S R | U e o
Tt ® 6 7% @1 O O g o e @ (@ 0-35
T UF T § | SEh SAia ol @wrEr
et & 7 ® 045
(@ 9:4 (© 0-55
(b) 35:17 : (d) 0-65
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111. A box contains 2 white balls, 3 black (c) 17:35
balls and 4 red balls. What is the

number of ways of drawing 3 balls d) 4:9
from the box with at least one black
ball ?
114. The coefficient of correlation between
(a) 84 ages of husband and wife at the time of
marriage for a given set of 100 couples
(b) 72 was noted to be 0-7. Assume that all
these couples survive to celebrate the
) 64 silver jubilee of their marriage. The

coefficient of correlation at that point

d) 48 of time will be

(@ 1
112. During war one ship out of 5 was sunk
on an average in making a certain - (b) 09
voyage. What is the probability that
exactly 3 out of 5 ships would arrive

safely ? (©)-0-7
(@) o QD i
625 ®
\Q(Z;‘ 115. The completion of a construction job
(b) 32 &Q may be delayed due to strike. The
625 @ probability of strike is 0-6. The pro-
bability that the construction job gets
© 64 completed on time if there is no strike
625 is 085 and the probability that the
construction job gets completed on
128 time if there is a strike is 0-35. What is
) 625 the probability that the construction job

will not be completed on time ?

113. A card is drawn from a pack of 52

cards. A gambler bets that it is either a (8) 035
spade or an ace. The odds against his
winning are : (b) 0-45
(a) 9:4 (C) 0-55
(b) 35:17 d) 0-65
39 A - DFRG-S-MTH
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e G (02) W F fou fmfafem e dm (03) et & fe feafifee w
R $iftra . fomm &ifSra .

et e & S0 =TT gRT 4 fawat 3 w st Freafafea wfiga aRarar se7 w am
F W= AR wEs e (SD) AR Ru . dfv .

%
=it 0-10 [10-20{20-30| 30-40 | 40-50 | 50-60
faag it | sifaeht | mmaw | s ;
form tema HEHAT 1 2 4 6 4 3
o I 40 28 38 36 )
mﬁm 2 ” 7 7 118. sz &t wiferen (Hiftgw) = & 2
(a) 34
116. Frafofaa & @ g fiwg & st = (b) 345
watfee fomror € 2
() .35
(a) W (d). 355
(b) Wit 119, Fifera & anig wrer e w8 7
(c) wmEa faam g\\§ @134
QQ)'% (b) 11-1
(@) Sfra fm @Q\ © 108
B
@ 105

117. 7fora # et o forsreor aquries war @ 2
120. 717 & Y Al Reem qr @ 7

@ 37-5%
@ 1015
) 38-0%
) 10-65
() 385% © 1115
) 39-0% @ 1165
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Consider the following for the next two (02)
items that follow :

The mean and standard deviation (SD) of
marks obtained by 50 students of a class in
4 subjects are given below :

Subject | Mathe- | Physics | Chemistry | Biology
matics

Mean

Mt 40 28 38 36

SD 15 12 14 16

116. Which one of the following subjects
shows highest variability of marks ?

(a) Mathematics

(b) Physics
(¢) Chemistry
O
. N\
(d) Biology §2§
\Q‘Zr
Q
117. What is the coe@nt of variation of

marks in Mathematics ?
(a) 375%
(b) 38-0%
(c) 385%

d) 390%

41

Consider the following for the next three
(03) items that follow :

Consider the following grouped frequency
distribution :

Class | 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60
Frequ-
ency 1 2 B 6 4 3

118. What is the median of the distribu-
tion ?

(a) 34
(b) 345
(c) 35
(d)-.35:5

119. What is

median ?

mean deviation about the

(@) 114
(b) 111
() 10-8
@ 105

120. What is the mean deviation about the

mean ?

(a) 10-15
(b) 10-65
(c) 1115
d) 11-65
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SPACE FOR ROUGH WORK
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SPACE FOR ROUGH WORK
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DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

T.B.C. : DFRG-S-MTH Test Booklet Series
TEST BOOKLET
MATHEMATICS
Time Allowed : Two Hours and Thirty Minutes Maximum Marks : 300
INSTRUCTIONS

1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD
CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR
MISSING PAGES OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST
BOOKLET.

2. Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and
Test Booklet Series A, B, C or D carefully and without any omission or discrepancy at the
appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render the
Answer Sheet liable for rejection.

3. You have to enter your Roll Number on the Test
Booklet in the Box provided alongside. DO NOT
write anything else on the Test Booklet.

4. This Test Booklet contains l?’]@%jm (questions). Each item is printed both in Hindi and English.

Each item comprises four r es (answers). - You will select the response which you want to
mark on the Answer Sheet. e you feel that there is more than one correct response, mark the
response which you con@r the best. In any case, choose ONLY ONE response for each item.

5. You have to mark all responses ONLY on the separate Answer Sheet provided. See directions
in the Answer Sh

6. All items carry marks.

7. Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet,
you have to fill in some particulars in the Answer Sheet as per instructions sent to you with your
Admission Certificate.

8. After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted to take
away with you the Test Booklet.

9. Sheets for rough work are appended in the Test Booklet at the end.

10. Penalty for wrong Answers :
THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

(i) There are four alternatives for the answer to every question. For each question for which
a wrong answer has been given by the candidate, one-third of the marks assigned to that
question will be deducted as penalty.

(ii) If a candidate gives more than one answer, it will be treated as a wrong answer even if one
of the given answers happens to be correct and there will be same penalty as above to that
question.

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty
for that question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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